Efficiency vs Dxy(PV)
S‘0.0J E

1E-
-25-20-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm)

—*— DQM_mkFit_TThase

| Efficienc] —— DQM_mkFit_TT_retrainOldFiles125

< 0.5

>

efficiency vs dx
S

©

o of i I i

g - R Rt
o8f -} - - {4k Y AN
oof -5 f- - {{ 4k
-1-080604020 02040608 1

2
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
0.8,

o
3

efficiency vs dz(PV)
o o
oo

o
IS

o
w

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

r>~lA 5 -
3 :
X :
P 1 --------------.----— -----
> .
z :
5] .
5 og R R
QO .
© :
0.6} FEEEE T FEEEE .
0.4 - PR H
LR

05 1
TP dz(PV) (cm)



	Contents
	Page 1


